
 

Tutorial Decidability Recognizability
recursive recursivelyenumerable

1 a What is the maximum depth of a binary
tree with n leaves

b What is the maximum depth of a CNF
derivation tree with n leaves

Binary CNF derivation tree

Ad 11 1 11
C What is the max number of internal nodes in a

CNF derivation tree

d what is the max of steps in the derivation of

W WE L G G in CNF and Iw n

2 Is the following language Recognizable

Is it Decidable

a A is a DFA and L A

b G W G is a context free grammar

and WE LCG
Hint first convert the grammar to CNF



3 Is the set

To M M is a TM over alphabet 0,13

countable

Let us assume a naming convention for
states

and for MI Σ

9 9 91 9 ha hr

To T T


